


Q.1 Three of the following four numbers 

are alike in a certain way and one is 

different. Pick the number that is 

different from the rest.

निम्ननिखित चार संख्याओं में से तीि एक निनित

तरीके से समाि हैं और एक निन्न है। वह संख्या

चुिें जो बानकयो ं से निन्न हो।

(A)336 

(B)224 

(C)226 

(D)448



Q.2. Arrange the following activities in a logical and meaningful 

order. 

निम्ननिखित गनतनवनियो ं को तानकि क और सार्िक क्रम में व्यवखथर्त करें।

1. Setting up alarm clock 

2. Solving question paper

3. Alarm Bell ringing 

4. Reach examination centre. 

5. Getting dressed and be ready 

6. Returning answer book
(A)3, 1, 5, 4, 2, 6 

(B)1, 3, 4, 5, 2, 6 

(C)1, 3, 5, 4, 6, 2 

(D)1, 3, 5, 4, 2, 6



Q.3. Select the set in which the numbers are related in the 

same way as are the numbers of the following set. 

उस सेट का चयि करें नजसमें संख्याएँ उसी प्रकार संबंनित हैं जैसे

निम्ननिखित सेट की संख्याएँ हैं।

(8, 39, 5)

(A)(11, 67, 8) 

(B)(10, 60, 6) 

(C)(9, 55, 4) 

(D)(14, 115, 9)



Q.4 Statements: Some plants are vegetable./ कुछ पौिे विस्पनत हैं।

All vegetables are vitamins./सिी सखियाँ नवटानमि हैं।

Conclusions: I. Some vitamins are plants./कुछ नवटानमि पौिे हैं।

II. Some vitamins are vegetables. / कुछ नवटानमि सखियाँ

हैं

III. No vitamin is plant. कोई नवटानमि पौिा िही ं है

(A)Either conclusion I or III follows. 

(B)Only conclusions II and III follow. 

(C)Only conclusions I and II follow. 

(D)Only conclusions I and III follow. 



Q.5 Two different positions of the same dice are 

shown below, the six faces of which are numbered 1 

to 6. Find the number opposite to the face having 3

एक ही पासे की दो अिग-अिग खथर्नतयाँ िीचे नदिाई गई हैं, 

नजिके छह फिकों पर 1 से 6 तक क्रमांक हैं। 3 वािे फिक के

नवपरीत संख्या ज्ञात कीनजए।

(A)2 

(B)6 

(C)4 

(D)5 



Q.6 . A + B means ‘A is the sister of B’./ A + B का अर्ि है 'A, B की बहि

है'।

A − B means ‘A is the son of B’. /A − B का अर्ि है 'A, B का पुत्र है'।

A × B means ‘A is the father of B’/A × B का अर्ि है 'A, B का नपता है'

A ÷ B means ‘A is the brother of B’/A ÷ B का अर्ि है 'A, B का िाई है'

If S × M ÷ U + L × Z − I is true then how is L related to I?

यनद S × M ÷ U + L × Z - I सत्य है तो L, I से कैसे संबंनित है?

(A)Husband 

(B)Son 

(C)Father 

(D)Brother



Q. 7 Three of the following four words 

are alike in a certain way and one is 

different. Pick the odd word out.

निम्ननिखित चार में से तीि शब्द एक निनित

तरीके से समाि हैं और एक अिग है।

(A)Ulcer 

(B)Anaemia 

(C)Hormone 

(D)Hypertension



Q. 8 If CALLOSUM is coded as 

31336134, then how will CEREMONY be 

coded as?

यनद CALLOSUM को 31336134 के रूप में

कोनित नकया गया है, तो CEREMONY को

नकस प्रकार कोनित नकया जाएगा?

(A)259457

57 

(B)358546

56 

(C)359545

47 



Q. 9 Select the option that is related to the 

third letter cluster in the same way as the 

second letter-cluster is related to the first 

letter-cluster. 

उस नवकल्पका चयि करें जो तीसरे अक्षर समूह से

उसी प्रकार संबंनित है जैसे दूसरा अक्षर-समूह पहिे

अक्षर-समूह से संबंनित है।

DHMR : BJKT : : XCOE : ?

(A) VFMH 

(B) VENG

(C) UENG 

(D) VEMG



Q.10 Select the correct mirror image of the given figure 

when the mirror is placed to the right of the figure.

जब दपिण को आकृनत के दाईं ओर रिा जाए तो दी गई आकृनत की

सही दपिण छनव का चयि करें।



Q.11 A figure of the transparent sheet with a pattern is given

below. Select the option that shows how the pattern would

appear when the transparent sheet is folded at the dotted line

एक पैटिि के सार् पारदशी शीट का नचत्र िीचे नदया गया है। उस नवकल्प

का चयि करें जो दशािता है नक पारदशी शीट को नबंदीदार रेिा पर मोड़िे

पर पैटिि कैसा नदिाई देगा



Q.12 ‘Mercury’ is related to ‘Metal’ in

the same way as ‘Frog’ is related to

‘_________’.

'बुि', 'िातु' से उसी प्रकार संबंनित है जैसे

'मेंढक', '_________' से संबंनित है।

(A) Rodent / कंृतक

(B) Reptilian / सरीसृप

(C) Amphibian/ उियचर

(D) Mammal/ स्तिपायी



Q.13 Select the number-pair in which the two numbers

are related in the same way as are the two numbers of

the following number-pairs

उस संख्या-जोड़ी का चयि करें नजसमें दो संख्याएँ उसी प्रकार

संबंनित हैं जैसे निम्ननिखित संख्या-जोनड़यो ं की दो संख्याएँ हैं

11 : 120

(A)17 : 289 

(B) 12 : 144 

(C) 2 : 3 

(D) 8 : 65



Q.14 Select the Venn diagram that best illustrates the

relationship between the following classes.

Women, Lawyers, Sons

उस वेि आरेि का चयि करें जो निम्ननिखित वगों के बीच संबंि

को सवोत्तम रूप से दशािता है।

मनहिाएं, वकीि, बेटे



Q.15 Which number will replace the question mark

(?) in the following series?

निम्ननिखित शंृ्ििा में कौि सी संख्या प्रश्न नचह्न (?) का थर्ाि

िेगी?

55, 56, 64, 91, 155, ?

(A) 280 

(B) 265 

(C) 275

(D) 270



Q.16 Select the option in which Figure-X is

embedded. (Rotation is not allowed)

उस नवकल्प का चयि करें नजसमें नचत्र-X सनन्ननहत

है।(रोटेशि की अिुमनत िही ं है)



Q.17 How many triangles are present in the

given figure?

दी गई आकृनत में नकतिे नत्रिुज मौजूद हैं?

(A)27 

(B) 26

(C) 24 

(D) 25



Q.18 Three of the following four letter-

clusters are alike in a certain way and

one is different. Pick the odd one out.

निम्ननिखित चार अक्षर-समूहो ं में से तीि एक

निनित तरीके से समाि हैं और एक निन्न है।

बेजोड़ को चुिें।

(A)DGJM 

(B) BDGJ 

(C) TWZC

(D) KNQT



Q.19  Pointing towards a boy veena said “he is the 

son of only son of my grandfather”. How is that boy 

related to veena?

एक िड़के की ओर इशारा करते हुए वीिा िे कहा, "वह मेरे

ग्ांिफादर के इकिौते बेटे का बेटा है"। वह िड़का वीणा से

नकस प्रकार संबंनित है?

A. UNCLE 

B. BROTHER  

C. COUSIN 

D.  DATA INADEQUATE



Q.20 Select the combination of letters that when sequentially

placed in the gaps of the given letter series will complete the

series.

अक्षरो ं के उस संयोजि का चयि करें नजसे दी गई अक्षर शंृ्ििा के अंतराि

में क्रनमक रूप से रििे पर शंृ्ििा पूरी हो जाएगी।

u _ _ m p m _ _ u u c m _ m m j _ u c _ p m m _

(A)u c m j p u m j

(B) u c m j u u m m

(C) u c u j p m m j 

(D) p c j m p u m j



Q.21 Select the figure that will come next in the

following figure series.

उस आकृनत का चयि करें जो निम्ननिखित आकृनत

शंृ्ििा में आगे आएगी



Q.22 Select the set in which the numbers are related in

the same way as are the numbers of the following set.

उस सेट का चयि करें नजसमें संख्याएँ उसी प्रकार संबंनित हैं जैसे

निम्ननिखित सेट की संख्याएँ हैं।

(145, 65, 115)

(A) (185, 65, 170)

(B) (80, 50, 110)

(C) (185, 70, 95)

(D) (130, 70, 100)



Q.23 Select the word-pair in which the two words are

related in the same way as are the two words in the

following word-pair.

उस शब्द-जोड़ी का चयि करें नजसमें दो शब्द उसी प्रकार

संबंनित हैं जैसे निम्ननिखित शब्द-जोड़ी में दो शब्द हैं

Temple : Worship / मंनदर: पूजा

(A) School : Education/ सू्कि: नशक्षा

(B) University : Professor / नवश्वनवद्यािय: प्रोफेसर

(C) Hotel : Expenditure / होटि:व्यय

(D) Hospital : Doctor/अस्पताि: िॉक्टर



Q.24 In a code language, PROXIMITY is written as

ZQTRKAVKO. How will ILLOGICAL be written as in

that language?

एक कूट िाषा में, PROXIMITY को ZQTRKAVKO नििा जाता

है। उस िाषा में ILLOGICAL कैसे नििा जाएगा?

(A) QNNKINCEK

(B) QMMKIMCEK

(C) RNNLINCEK

(D) QNNLINBEL



Q.25 Which two numbers should be interchanged in 

the following equation to make it correct? 

निम्ननिखित समीकरण को सही बिािे के निए इसमें नकि दो

संख्याओं को आपस में बदिा जािा चानहए?

779+14×21−532÷41 = 807

(A)779 and 21 

(B)532 and 779 

(C)21 and 41 

(D)532 and 41



THANK YOU


